md the quotient of the probla
below. State if the divisor is a factor

of the dividend. Then state the
division algorithm as it relates to
the problem

(2x3—x2—2x+6)+(2x+3)

X =2x42
2x43 ) 2x3~x*-2x+0
- (2ex%) |

- 4x%2x
~(4x*6x)
Yx+06
~(tx+0)
(0

7x+3 1s atactor
2% -x*- 2x+lo

Divigion A\goq\c\—\nm

(2% K- 2x42) 0 = 2~ x*- 2x +6

Polynomial Long Division Practice

md the quotient of the prOb'hﬂd the quotient of the problh
below. State if the divisor is a factor | below. State if the divisor is a factor

of the dividend. Then state the
division algorithm as it relates to
the problem

xd —9x3 +13x% — 8 + 3
2% — 3

Xs <35+ 2%~ |
2% -3 )(Zx:-‘bcz"‘)-f\?m‘- Ext3
~@x-3) |
-bx*+138
~(-ox® +axt) )
Yx:-8x
= (4%-bx)
~2X%2
—€2x43)
9]

2x-2 isa ‘F&c\'or o-‘
205 Gy (33 8k +3

Division A\&dem
3
(2x-3)(X ~3x7'+2x—‘)=2)§ -‘lx) +I3x"-8x1'5

of the dividend. Then state the
division algorithm as it relates to the
problem. Write any remainders in
fraction form

(3x% + 22x2 - 48x - 5) = (3x - 5)
2
X“+0qx-1
3%-5 ] 3% 22x* Ugx-S
“(3¢-58) |
21 48%
= (23 455)
-3x-5
~(-3x+5)

0

—

YA
X #ag-\— 22
3R-9

3%-S i¢ not a ad'orﬁ-P
3+ 2252 4RX-5

Division A\%p rthon

(3x-S) K +qx-1)-10= 2
2«2 #-4Ex-S

md the quotient of the probl&
below. State if the divisor is a factor

of the dividend. Then state the
division algorithm as it relates to the
problem. Write any remainders in
fraction form
4 3 VV\|$S‘M9. X feem
4x” + 35x° — 54x — 26
4x + 3
B -bx-q
Ux+3 )4t £ 35,2 +0x*-54%-26
-Uxtedd) |
Nr+0¢
- (32%24%)
-24x"-54x
~(-24x>-18x)
~3bx-20
=(-3ox-2%),
\

3 2 |
X+8X-(ox~8+@§_5

4x+3 i< not a factor
xte2s - stix-20

Pivistn i
(reDOPHRP-bx-q )+ p

le"‘rbs)c" L))

J

\_




Find the quotient of the problem
below. Then continue to factor the
quotient and state in the form of the
division algorithm

x5 —4x% —11x + 30
x—2
XE-2x-15
X-2 ) x>4x2- \|x +30
- (x> 2¢)
-2%5-\\
-y
-15x+%0
= (-15x+30)

(0]
X-2 i afockor or

x> 4x*-(1x £ 30

division a\goriw\m
(x-2)( X*-2x-15)= K-4%=11x +3D

\(‘Fu\« ¢x/3u§ %

(X-2)(X-5)(X+3) = X>-Ux-1ix +dD

Find the quotient of the problem
below. Then continue to factor the

ﬁind the missing information |
the problem below

ﬁ

quotient and state in the form of the
division algorithm X4 x o ax*=bx +13
g N
3 2 bx2-bx +13
—3x" —4x+ 12 (o 349
x—3 13X+
& -(19%-73)
2 X°-4
x2+0-4 77 -
X-3 ] X3-3x%-4 x+2
- (x* 3x%)
O -Hx
—-(©-0)
~HX+HL
- (ux+12)
O
X-31isa Qac\-or ..\ k
X*-3x=dx 41 -
2 |y +5% + _'_)\(_,?3—
division a\aom\-\nm 3 fx3—%xa+alx 3
(%-3(x™-4)= K-3R-Ux+12 _(2 - 3%)
‘Fﬁlhrosw\ ﬁ))]y &
‘:/“\d:wb\sqﬂm = (-IIx* +33x)
("‘5)(X~2)(X+z)-x -4 412 ’@
- (59x-1)
-1%0

Correct any mistakes in the
problem above

AN
Y.

ﬂind the missing informationh

the problem below
x& _x -3
x3+ay3-ux Fia
- (x2+3x%)

-X>-bY + 1

- -3
-3+
-(-3%-9)

al

%

x3 4T 4K o

w2 | xd raxc-x?

=)

(! -ax?) kSkippld
gx3-x* +3 Variable
- (4 %)
X3

—H)

Correct any mistakes in the
problem above

J




